¥ Competing Species

One Species Survives
restart .
with(DEtools) :
5 5= (1) = 100(0) = x(0)” = 20(0) (1), < () = 10:(0) = p(1) = 2x(0) (1) 5
% x(1) =10x(1) —x(1)” = 2x(1) y(1), %y(r) =10 (1) —y(1)* = 2x(1) y(1) (1.1)
with( plots) :
fens == {x(t), y(t) }; p .= dsolve({sys, x(0) =10, y(0) =15}, fcns, type = numeric, method
= classical)
{x(2),y(1)}
proc(x_classical) ... end proc (1.2)

odeplot(p, [[t,x(1)], [£,y(£)]],0..3);
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restart .

with(DEtools) :
sys = % x(1) =10-x(1) =3 x(0)* = x(1) y(1), Ey(t) =14-p(1) =3 y(6)> —x(1)y(1) ;
% x(1) =10x(1) =3 x(£)* —x(1) (1), %ym =14y(1) =3y —x(t) p(t) (111
with(plots) :
fens = {x(t), y(t) }; p :=dsolve({sys, x(0) =10, y(0) =15}, fens, type =numeric, method
= classical)
{x(1), (1)}
proc(x classical) ... end proc (1.1.2)
odeplot(p, [[#, x(2) ], [# y(¢) 11,0 .. 14);
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